Using the

spectrophotometer
Light Source Object

Absorption

Transmittance

Reflectance '




e ' Set to Abs







Beer-Lambert law (Beer’s law):
Linear relationship between absorbance and
concentration of sample.  Beer’s law: A= €lc

] A = absorbance
g 0% ¢ = absorptivity
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0.0— 53 o4 6 ol Cc = concentration

concentration

(You don’t have to do this plot — it just shows
how Absorbance and conc are related)



Plot: Absorption vrs Wavelength
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page28 steps 1-5 - already done
Fe3  (aq) + SCN- (aq) - FeSCN<" (aq)

Take ~10 mL of the FeSCN?" solution

Measure Abs at different A from 400 - 700 nm

"T'abulate data

Graph at home (graph paper) (Q1)



Q2. Find A,  from graph :;{
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Q3. Find [FeSCN?*] after mixing. Use:

[Fes'| (before mixing) = 0.0004 M
|ISCN-| (before mixing) 1.0 g KSCN 1n 15.0 mL water

Remember, mixing equal vols will 4 molarity
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Q4. From graph, find A at A,
Measure | with ruler

Use ¢ from Q3

Calculate € Beer’s law: A= €lc

1.4
1.2 7

-
0.6 1

Absorbance

300 400 S00 600 700 800
Wavelength (rar



	Slide Number 1
	Slide Number 2
	Slide Number 3
	Slide Number 4
	Slide Number 5
	Slide Number 6
	Slide Number 7
	Slide Number 8

